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Senior Quiz

Put the letter of the most correct answer in the space provided.

_____ 1. In the commercial industry, the price paid to a producer for a market hog is based on

a. back fat depth
b. carcass weight
c. live weight

d. both a and b

_____ 2. How do you tell the difference between first cutting and second cutting orchardgrass hay?

a. color of the hay
b. dustiness
c. presence of stems and seedheads
d. length of leaves


_____ 3. Bacteria help cattle and sheep digest fibrous feeds. In which organ is the greatest number of bacteria 


   found?

a. rumen
b. abomasum

c. liver

d. large intestine

_____ 4. What is the primary byproduct of ethanol production?

a. corn gluten feed
b. distillers grains
c. corn germ meal
d. brewers grains

_____ 5. If you get a 66% conception rate on artificial insemination, what portion of the herd is pregnant to AI 


   after 2 heat cycles of AI breeding?

a. 75% 
b. 88%

c. 93% 
d. 95%

_____ 6. Which feed contains the highest protein content?

a. corn
b. soybean meal
c. alfalfa meal

d. peanut shells

_____ 7. Cattle grubs are the larvae of the ______.

a. Heel fly       b. Bot fly 
c. Horse fly
d. Roundworm

_____ 8. A heifer walks with her head held low and a short, stiff stride. What’s the problem?

a. straight shoulder
   b. sickle hocked
c. steep rump
    d. cow hocked

_____ 9. Which species is seasonally anaestrous?

a. sheep 
b. cattle
c. pigs

d. all will show heat year round

_____ 10. What is a problem resulting from well-fertilized corn or grass during drought conditions? This  


      problem can kill livestock if they eat silage or hay from these crops.

a. Magnesium deficiency
b. Selenium deficiency
c. Nitrate toxicity
d. Iron toxicity



______ 11. The best indicator of pigs that are littermates is what?

a. they are the same color


c. notch in the left ear

b. notch in the right ear


d.  they are the same sex

______ 12. Which part of the reproductive tract of a female is a barrier to infections and foreign material?

a. ovary
b. uterus
c. uterine horns
d. cervix

______ 13. A steer carcass is 780 pounds with 0.45 inch of back fat, a 10.0 square inch ribeye, and a 


         Quality Grade of average Choice? This carcass is….

a. too fat
b. heavy muscled
c. light muscled
d. just right

_____ 14. Which type of internal parasite is not controlled with dewormers?

a. Roundworms
b. Lungworms

c. Coccidia
d. Tapeworms

_____ 15. What percentage of a calf crop would you expect to have a red hide if the cows were 


       Hereford X Angus F1 crosses (black baldies), and the bull was a Hereford?

a. 0%

b.25%

c. 50%

d. 100%

______ 16. Which retail cut comes from the inside quarter of the steer?

a. T-bone steak
b. top-round steak
c. sirloin steak

d. round tip steak

______ 17. Which vitamin requirement is met when sheep, cattle, and horses eat green forage?

a. Vitamin A

b. Vitamin C

c. Vitamin B12
d. Riboflavin

______ 18. A heifer is in heat this morning. When should she be bred?

a. this morning
b. this evening

c. tomorrow morning

d. around noon



______ 19. If the carcass price of lamb is $1.50 per pound, which is the closest to the equivalent live price per 


       pound?

a. 55 cents
b. 70 cents
c. 85 cents
d. 95 cents

______ 20. What is mineral deficiency which can occur on lush, spring with cows in early lactation?

a. Selenium deficiency
b. Calcium deficiency
   c. Protein deficiency      d. Magnesium deficiency

____ 21. We want to feed a steer one pound of crude protein daily. How much soybean meal should be fed to 
the steer?

a. 2 pounds

b. ½ pound 
c. 10 pounds

d. 1 pound

______ 22. Which hormone can be given to cattle and sheep to synchronize estrous?

a. estrogen
   b. progesterone
c. prostaglandin
d. both b and c

______ 23. Which ewe should have a higher level of milk production?

a. ewe nursing twin lambs    b. ewe nursing single lamb
c. ewes will produce same amount of milk

______ 24. Beef cattle can legally be imported to the United States form Canada.

a. True
b. False

______ 25. The average EPD for Yearling Weight is

a. 0
   b. different for each breed
   c. higher for European breeds
d. higher for Asian breeds

